— 4
Product van www.safewaterproducts.com
Gebruiksaanwijzing voor de installatie van de Rada-Safe en de
vervanging van de filter. Gelieve dit informatieblad bewaren voor
de vervanging van de filter in de toekomst.
Hoe de Rada-Safe installeren?

1-1 Verwijder de Rada M4 schroef (3) en de Rada sproeiplaat (2)
van de Rada douchekop (1) door middel van de meegeleverde korte
hexagonale sleutel (13).

1-2 Neem de Rada-Safe uit de verpakking. Verwijder ({) de 2 M2
schroeven (6) en de Rada-Safe sproeiplaat (4) van de Rada-Safe
body (5) door middel van de meegeleverde korte hexagonale
sleutel (13).

Belangrijke opmerking : de 2 kleine pinnetjes en het gebogen
gedeelte onder de pinnetjes (7) zijn nodig om de Rada-Safe correct
te aligneren en mogen dus niet geforceerd worden. Forceren kan
beschadiging veroorzaken waardoor het product niet meer correct
kan geinstalleerd worden.

1-3 Breng (}) de Rada-Safe body (5) in de Rada douchekop (1).
Door de 2 kleine pinnetjes en het gebogen gedeelte (7), zoals
weergegeven in 1-2, correct te aligneren, zal de rubber dichting (11)
en (9) op de juiste plaats komen. Gebruik de meegeleverde lange
hexagonale sleutel (12) om met de originele Rada M4 schroef (3)
die in stap 1-1 verwijderd werd, alles goed aan elkaar te bevestigen.

1-4 Verifieer of de rubber dichting (10) op de juiste plaats
zit op de SS-2 Rada filter (8). Duw () de SS-2 Rada filter (8) in de
Rada-Safe sproeiplaat (4).

1-5 Bevestig (1) met de 2 M2 schroeven (6) de Rada-Safe
sproeiplaat (4) aan de Rada-Safe body (5) door middel van de
meegeleverde korte hexagonale sleutel (13). Verifieer of de
Rada-Safe sproeiplaat (4) correct gealigneerd is met de Rada-
Safe body (5).

Hoe de filter vervangen?

1-6 Verwijder (1) de Rada-Safe sproeiplaat (4) van de Rada-Safe
body (5) door middel van de meegeleverde korte hexagonale
sleutel (13).

1-7 Verwijder (1) de gebruikte SS-2 Rada filter (8) van de
Rada-Safe sproeiplaat (4).

1-8 Neem de nieuwe SS-2 Rada filter uit de verpakking en bevestig
() deze aan de Rada-Safe sproeiplaat (4). Gebruik de lege
verpakking om de gebruikte SS-2 Rada filter weg te gooien.

i
Produit de www.safewaterproducts.com &

Manuel pour I'installation du Rada-Safe en le replacement du filtre.

Veuillez conserver cette fiche d'information pour le remplacement
futur du filtre.
Comment installer le Rada-Safe ?

1-1 Dévissez la vis Rada M4 (3) de la plaque du bec du Rada (2) du
pommeau de douche Rada (1) a I'aide de la clé hexagonale courte
fournie (13).

1-2 Retirez le Rada-Safe de ’emballage. Retirez ( {) les 2 vis M2 (6)
et la plaque du bec du Rada-Safe (4) du body du Rada-Safe (5) a
I'aide de la clé hexagonale courte fournie (13).

Remarque importante : les 2 fiches et la partie recourbée sous

les fiches (7) sont nécessaires pour aligner correctement le
Rada-Safe et ne doivent donc pas étre forcés. Le forgage peut
causer des dommages, de sorte que le produit ne peut plus étre
installé correctement.

1-3 Placez ({) le body du Rada-Safe (5) dans le pommeau de
douche Rada (1). En alignant correctement les 2 fiches et la partie
recourbée (7), comme indiqué sur I'image 1-2, le joint en
caoutchouc (11) Et (9) sera aligné. Utilisez la longue clé hexagonale
fournie (12) pour bien assembler le tout avec la vis Rada M4
d’origine (3) qui a été retirée a I'étape 1-1.

1-4 Vérifiez que le joint en caoutchouc (10) est au bon endroit
sur le filtre SS-2 Rada (8). Insérez (}) le filtre SS-2 Rada (8) dans la
plaque du bec du Rada-Safe (4).

1-5 Fixez ({) la plaque du bec du Rada-Safe (4) sur le body du
Rada-Safe (5) avec des 2 vis M2 (6) a I'aide de la clé hexagonale
courte (13) fournie. Vérifiez que la plaque du bec du Rada-Safe (4)
est correctement aligné sur le body du Rada-Safe (5).

Comment remplacer le filtre ?
1-6 Retirez(]) la plaque du bec du Rada-Safe (4) du body du

Rada-Safe (5) a I'aide de la clé hexagonale courte fournie (13).

1-7 Retirez({) le filtre SS-2 Rada usagé (8) de la plaque du bec
du Rada-Safe (4).

1-8 Prenez le nouveau filtre SS-2 Rada de son emballage et
fixez-le (1) a la plaque du bec du Rada-Safe (4). Utilisez I'emballage
vide pour jeter le filtre SS-2 Rada usagé.

1-9 Voir I'étape 1-5 “ Comment installer le Rada-Safe ” ci-dessus.

Nomenclature

1-9 Zie stap 1-5 “Hoe de Rada-Safe installeren ” hierboven. Iltem N ?escnphor:,e douche Rada ’Iombre
. 2 La plaque du bec du Rada 1
Stuklijst 3 Vis M4 Rada 1
Item N° Omschrijving Aantal 4 La plaque du bec Rada-Safe 1
1 Rada douchekop 1 5 Body du Rada-Safe 1
2 Rada sproeiplaat 1 6 Vis M2 2
3 Rada M4 schroef 1 7 2 fiches et partie recourbée 1
4 Rada-Safe sproeiplaat 1 8 Filtre SS-2 Rada 1
5 Rada-Safe body 1 9 Joint en caoutchouc Rada-Safe 1
6 M2 schroef 2 10 Joint en caoutchouc filtre SS-2 Rada 1
7 2 kleine pinnetjes en gebogen gedeelt 1 11 Joint en caoutchouc Rada 1
8 S$S-2 Rada filter 1 12 Clé hexagonale longue 1
9 Rubber dichting Rada-Safe 1 13 Cléh le courte 1
10 Rubber dichting SS-2 Rada filter 1 Remarque: Item No. 1, 2, 3, 12 sont des pieces de Rada, pas inclues chez Rada-Safe.
11 Rubber dichting Rada 1
12 Lange hexagonale sleutel 1
13 Korte hexagonale sleutel 1

Opmerking: Item No. 1, 2, 3, 12 zijn componenten van Rada, niet inbegrepen in
de Rada-Safe.

SAFE WATER

P R O D UCT S
www.safewaterproducts.com

884 Rada-Safe X

kiwa §Y

NSF-WRe

< Nelson Labs.

AIM

S 2. A Sotera Health company
SafeWater Products
Email: cb@safewaterproducts.com

H wWwWw. products.com

Disclaimer: The information and data contained in this document are
based on our general experience and are believed to be correct.

They are given in good faith and are intended to provide a guideline for
the selection and use of our products. Since the conditions under which
our products may be used are beyond our control, this information does
not imply any guarantee of final product performance and we cannot
accept any liability with respect to the use of our products.

The quality of our products is guaranteed under our conditions of sales.

5

3 [i:1]

(2)

0,

(13)

(6)

!

L\‘I'/A
A
Product of www.safewaterproducts.com &
Manual for the installation of the Rada-Safe and the replacement of

the filter. Please keep this sheet for information on how to change
filters in the future.

How to install the Rada-Safe?

1-1 Remove the Rada M4 screw (3) and the Rada spray plate (2)
from the Rada main body (1) using the enclosed short hexagonal
tool (13).

1-2 Remove the Rada-Safe from the packaging. Remove ({) the
M2 screws (6) and the Rada-Safe spray plate (4) from the Rada-Safe
main body (5) using the enclosed short hexagonal tool (13).

Important Notice: The 2 locating pins and the curved part below it
(7) are for alignment of the Rada-Safe and are not to be forced or
twisted when in location. Forcing of the locating pins may cause
breakage and render the product more difficult to fit at a later time.

1-3 Insert ({) the Rada-Safe body (5) into the Rada main body (1)
ensuring that the rubber seal (11) and (9) are placed correctly, with
the locating pins and curved part(7)as seen in figure 1-2 above,
correctly aligned fix th em together firmly with the original Rada M4
screw (3) removed instep 1 using the enclosed long hexagonal tool (12).

1-4 Insert ({) the SS-2 Rada filter (8) into the Rada-Safe spray plate
(4) ensuring that the rubber seal (10) is in place on the SS-2 Rada filter(8).

1-5 Put (}) the Rada-Safe spray plate (4) with the 2 M2 screws (6) onto
the Rada-Safe body (5) using the enclosed short hexagonal tool (13),
ensuring the Rada-Safe spray plate (4) is aligned correctly with the
Rada-Safe body (5)

How to change the filter?
1-6 Remove ({) the Rada-Safe spray plate (4) from the Rada-Safe
body (5) using the short hexagonal tool (13).

1-7 Remove ({) the used S5-2 Rada filter (8) from the Rada-Safe
spray plate (4).

1-8 Remove the new SS-2 Rada filter from the packaging and attach
(£) the new SS-2 Rada filter (8) to the Rada-Safe spray plate (4). Put the
used SS-2 filter in the empty packaging for disposal.

1-9 See step 1-5 from “How to install the Rada-Safe?”

Bill of Material
Item No Description Qty.
1 Rada main body 1
2 Rada spray plate cover 1
3 Rada M4 screw 1
4 Rada-Safe spray plate 1
5 Rada-Safe main body 1
6 M2 screw 2
7 2 Locating pins and curved par 1
8 5S-2 Rada filter 1
9 Flat Rubber seal Rada-Safe 1
10 O-ring Rubber SS-2 Rada filter 1
11 Rubber seal in Rada 1
12 Long hexagonal tool 1
13 Short hexagonal tool 1

Remark: Item No. 1, 2, 3, 12 are components of Rada, not included in Rada-Safe.




